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Passive structure

Should I Use Active or P.

Voice in a Research Pap




As you remember...

Use of Passive

Passive voice is used when the focus is on the action. It is
not important or not known, however, who or what is
performing the action.

Example: My bike was stolen.



Form of Passive
Subject + finite form of to be + Past Participle (3rd column of irregular
verbs

PASSIVE VOICE CCuiat:

learn/read, enjoy!

Simple Continuous Perfect
to be V3 to be being V3 |To have been V3
Present|am - am | have
is - V3 is ~ being V3 - beenV3
are - are - has
Past was was |
L V3 - beingVV3 | had been V3
were ’ were
Future |Shall [
J~be N3l T will have been V3
will




PASSIVE VOICE

-emphasizes person or
object receiving the
——— ACTIVE VOICE
-emphasizes the agent

performing the action



passive /\/\/

active
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1) When the agent of the
action is unimportant,
unkown, or obvious

“Over 20,000 patients are diagnosed
(by doctors) with diabetes each year
in the United States.”




2) When the object or
action itself is more
important than the agent
performing the action



3) When the recepient of
the action is the topic of
the sentence




ACTIVE VOICE
emphasi \ o
emphasizes the agent PASSIVE VOICE
performing the action
-emphasizes person or
T WORDVICE object receiving the

action
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If you have any questions you can write here

+ 'Qj Should | Use Active or Passive Voice in a Research Paper? ¢




1. PASSIVE STRUCTURES AND THEIR MESSAGE

Pattern Study (1)

Pattern 1:

. Np. . .V, . (Prep.). . .(by/ with-phr.). . .

The idea was first suggested by Prof. X. 91a muicas 6sina enepsuie
BeiCKa3aHa npod. X.

An idea was suggested to use another method. beinra Brickazana
MBIC/Ib MCIOL30BaTh APYrOH METOA.

Pattern Practice (1)

Ex. 1. Identify the passive structures and the logical predicates,
translate the sentences into Russian as shown in the fol-
lowing example.

Example: More evidence was obtained to support the idea.
“Evidence was obtained” is the passive structure, “more
evidence . . . to support the idea” is the logical predicate.
Botau noaysens noesie dannsie € noodepacKy 3moi udeu.

The problem was first recognized in the 19th century. Later an idea
was suggested to apply it to practical things. Many possibilities for prac-
tical applications were analysed. Some of these were tested by experi-
ment. The experimental wesults were not generally accepted, and the
idea was discarded. Then other consequences were deduced and a new
model proposed. Recently the model has been modified and is now
being used in many practical situations.



B. Give English equivalents of the following Russian phras-
es using Impersonal passive structures and adverbs “wide-
ly,” “generally” where required.
|. Toopst, yro.... 2. [pesmonaraeres, wro.... 3. MoxHO HagesTscR,
410.... 4. Cneayer npuanare, 9ro.... 5. buno wafiaewo, 4vo....

6. O6ienpu3HanHo, 410.... 7. Cunrasor, yro.... 8. Unpoko pacnpoctpa-
HEHO MHEHME, 4T0....
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Ex. 3. |dentify passive structures and give Russian equivalents of the
relevant part of the sentence as shown in the following exam-
ple. :

Example: Under these conditions the questions cannot be answered

unambiguously. “The question cannot be answered” ....
Ha eonpoc neasan omsemums ...
I. Some people are easily influenced by other people’s opinions.

2. The distribution of plants is greatly affected by local conditions. 3. The
seminar was attended by all the participants.4. His lectures are always
followed by heated discussions. 5. In several areas of research the efforts
of scientists are joined by those of philosophers and sociologists. 6. At
the university students are offered a curriculum of study which is fol-
lowed by a test and the award of a degree. 7. The members of the labora-
tory were consulted prior to this successful operation.




Pattern Vocabulary (1). List 1

" Remember some of the verbs taking a direct object in English but equiva-
lent to Russian verbs followed by a preposition.

to affect — mamnrs (Ha),

to answer — orseqars (Ha),

to approach — nogo#m™ (x),

to attend — npucyrcTeosars (Ha) (M AXTHBHO YHaCTBOBATSH),
to consult — xoHcyawTHposarsca (y, ¢);

t0 enjoy — noAy4aTs yAOBOABCTBHE (OT), NONALIOBATHCA,

to follow — cnegopars, creauTs (3a),

to influence — wausaTs (Ha),

to join — NPUCOCAHHATHCA (K);

to watch — Habmoaars (3a).

Write a short essay using passive structurestPattern Vocabulary
(p.20) Why should a teacher write scientific papers? ‘




